
Real Effective Exchange Rates: a comparison of the data published by the 
European Commission (DG ECFIN) with data published by other international 
institutions (ECB, OECD, IMF and BIS) 
 
 
Introduction 
 
DG ECFIN has been publishing Effective Exchange Rates data since 1996 for all EU 
Member States, for the euro area (since 1999) and the EU aggregates and for 
selected third countries. 
 
This note presents a comparison of the data sets calculated and published by five 
international organisations (EC (DG ECFIN), ECB, OECD, IMF and BIS).   
All institutions calculate data for various partner baskets and deflators, but this 
comparison focuses on REER, Consumer Price deflated, broad group of trading 
partners. 
 
The Real Effective Exchange Rate for a country or aggregate is defined as an index 
number time series of weighted bilateral exchange rates with the trade partners 
(NEER: Nominal Effective Exchange Rate), adjusted by a weighted average of 
relative prices (or costs). 
The basic data used in the calculations are: 
- the bilateral exchange rates, 
- a suitable deflator, here the Consumer Price Index (HICP where available, CPI 
otherwise), 
- trade data (value of exports and/or imports of all goods (ECFIN), manufactured 
goods (ECB, OECD, BIS) or goods and services (IMF),  
(Note: due to data unavailability of trade in services by origin/destination, almost all 
institutions limit trade data to goods only. Only the IMF includes a crude estimate of 
services, but assumes the same partner distribution as for goods.) 
- and a suitable measure of the domestic market, in order to capture third market 
effects. 
 
The weights used reflect the relative importance of the trading partners, and are 
calculated according to the double exports scheme (DG ECFIN), a weighted average 
of double exports and bilateral imports (ECB, OECD, BIS), or other methods (IMF). 
Furthermore, these weights can be fixed over the whole period under consideration, 
fixed but discretely adjusted (ECB, IMF, BIS), or adjusted annually (DG ECFIN, 
OECD). 
The choice and number of trading partners is a trade-off between representative final 
results, data availability and the marginal cost of adding one more country in terms of 
calculation complexity (especially trade matrices). In these broad index series, the 
basket size ranges from 42 partners (DG ECFIN), over 52 (OECD), 61 (BIS), 57 
(ECB) to 184 (IMF). 
In ECFIN's case, the current basket of 42 countries covers over 80% of extra Euro 
area exports. 
 
 
 
 



Comparison of REER produced and used by the major international organisations 
 
All published data series are to be considered –a priori– as complying with 
comparable high quality standards. Hence, in the comparison, none of the data sets 
is taken as the reference set. 
The method used in the comparison is a pairwise simple OLS regression (through 
the origin, on economic considerations). For each country and the euro area, each 
series is regressed on every other series. As one is primarily interested in the 
correlations and not in an econometric model, an A-B regression is not repeated for 
B-A (although the slope coefficient in the second case will differ from the inverse of 
the first regression slope, the R² as a measure of correlation remains the same). 
Part A summarises the comparisons by presenting the availability of data and the 
sample mean R² for each pair of available time series. 
Part B presents the detailed comparisons between data from the five institutions for 
the euro area and for the 42 countries covered by DG ECFIN, both for the index 
numbers and for the corresponding y-o-y evolutions: graphs of actual data, pairwise 
regressions presented in scatter diagrams with trend line, as well as the R² for each 
pair of data for the period 1999-2014 for the index numbers and 2000-2014 for the 
year-on-year changes. 
 
The results show a remarkable good match between series; levels and time path 
evolutions are very much similar, both for the index number series and the y-o-y 
changes, with highly significant t-values for the regression coefficients, and R² values 
typically well above 0.90. 
 
 
Some comments on the findings; possible explanations for apparent discrepancies 
 
While the differences between series are overall small, a couple of seemingly 
discrepant results called for further investigation and justification.   
 
(Data were taken as published: spikes in series are obviously the result of typos in 
the files.) 
 
Although data since 1994 are available, 1999 was chosen as starting year, 
corresponding to the introduction of the euro.   
Pre-99 basic data quality for a number of countries may be sometimes questionable 
anyway. 
Furthermore the issue of severe currency devaluation shocks was felt as to be 
avoided: the Russian currency crisis (end 1998) for instance is very prominent. 1  

                                                           
1
 Due to the extreme rate of RUB devaluation, the REER results for all countries are affected to a 

certain extent, not only the traditional Russian trading partners. In the case of Cyprus for instance, the 
weight of Russia in the ECFIN trade matrix for 1998 amounted to about 20%, and results in a 
spectacular jump in EERs, formally implying a dramatic deterioration of Cyprus' competitivity.  
The effect is clearly less pronounced in the global weighting scheme than in the double exports 
scheme (a confirming test was run through ECFIN's calculation program). In the regressions this 
could have been dealt with by introducing a dummy variable; however obtaining perfect regressions 
was not the purpose of the exercise, but only a method to check the consistency of published 
calculated REER data.  
Excluding this Russian crisis period, R² values improve (often dramatically) as do the correlations. 



In this context, we note that crawling devaluations e.g. in Turkey seem to be 
immediately offset by inflation, and do not distort REER in the same way as they 
affect NEER results. 
 
Concerning the United Kingdom: the time series presented by the IMF differs very 
much from the other institutions. Results for 1999-2009 even seem uncorrelated. 
Further investigation revealed that this discrepancy is due to the use of an erroneous 
deflator: IFS line 64, which is presented as CPI, is in fact RPI (these data are utterly 
incomparable and uncorrelated with HICP). However, the y-o-y evolution shows a 
remarkable good fit. 
 
For several countries, a pronounced seasonal pattern is observed in DG ECFIN 
data (e.g. Greece, Malta), but not observed in results by other institutions. The ECB 
claims that a seasonal adjustment on their HICP/CPI deflator data is performed, 
which explains the smoothed REER results in these cases. From the outset, DG 
ECFIN decided to use original data throughout, when available. 
Anyway, y-o-y evolutions are not affected by the presence or not of these seasonal 
patterns. 
 
For all countries, a small drift (bias?) of the index number series is observed, 
implying in most cases a slightly more favourable competitiveness position according 
to DG ECFIN's results than by other organisations. This can be explained by several 
factors: 
- the use of fixed weights matrices ignore among other things possible substitution 
shifts: this is a known phenomenon when using Laspeyres indices (use of quantities 
of the base period). 
- the use of global weights instead of mere double export weights (a test run through 
DG ECFIN's calculation program seems to confirm this). 
- the addition of more high-devaluation trading partners in the larger baskets. The 
question arises however whether the inclusion of countries with unstable currencies 
such as Venezuela (a 2000% devaluation in several shocks between 1994 and 
2006), Argentina, Indonesia, etc. would not rather unnecessarily distort the results. 
Experience has shown that even low-weighted contributions in the basket from such 
currencies could lead to (economically unfounded) biased EER results.  
 
Conclusions 
 
Apart from a couple of obvious explainable discrepancies, no convincing evidence 
could be found of a significant difference between any pair of the five presented 
series. Although the approach in the five cases is different, be it in the basket of 
trading partners, the choice of trade data and the weighting schemes or even the use 
of slightly different data for the CPI or HICP deflator, the results are broadly similar. 
Apparently not much additional information or significant value added is obtained by 
increasing the number of partner countries in the calculations. 
On the other hand, the global weighting scheme seems to cope better with extreme 
shocks (currency crises in hyper-devaluation countries: Russia 98, Bulgaria 97, …) 
 
Each of the five calculation methods can be seen as a robust estimator of the 
REER, and each published series as a consistent estimate of the true 
(unobserved) REER. 



 



Part A 

REER, CPI deflated, broad group: comparison of data published by five institutions 
Data availability; sample mean pairwise R² for index numbers and y-o-y evolutions  
 

  
EC 

Ecfin 

 
ECB 

 
OECD 

 
IMF 

 
BIS 

 R² 
index 
99-14 

R² 
y-o-y 
00-14 

 

Euro area       0.99 0.99  

Belgium       0.97 0.97  

Bulgaria       1.00 0.94  

Czech Republic       0.99 0.94  

Denmark       0.92 0.98  

Germany       0.97 0.99  

Estonia       0.99 0.95  

Ireland       0.98 0.96  

Greece       0.94 0.96  

Spain       0.98 0.96  

France       0.94 0.98  

Croatia       0.94 0.91  

Italy       0.95 0.98  

Cyprus       0.89 0.81  

Latvia       0.96 0.94  

Lithuania       0.99 0.96  

Luxembourg       0.94 0.88  

Hungary       0.99 0.99  

Malta       0.88 0.90  

Netherlands       0.93 0.96  

Austria       0.83 0.97  

Poland       0.98 1.00  

Portugal       0.96 0.97  

Romania       1.00 1.00  

Slovenia       0.91 0.94  

Slovakia       1.00 0.98  

Finland       0.89 0.96  

Sweden       0.94 0.98  

United Kingdom    /   1.00 1.00  

USA       0.99 0.99  

Japan       0.99 1.00  

Switzerland       0.98 0.98  

Norway       0.91 0.98  

Turkey       0.99 0.99  

Canada       1.00 0.99  

Australia       1.00 0.99  

New Zealand       0.99 0.99  

Mexico       0.98 0.99  

Russia       1.00 0.98  

China       0.99 0.98  

Hong Kong       0.99 0.96  

Korea       1.00 1.00  

Brazil       0.98 0.96  
 
Note: United Kingdom: IMF not included in comparison: data not comparable (see text). 



Part B 

 
REER, CPI/HICP deflated, broad group: pairwise comparison of data published by 
five institutions 
 
Index numbers:  

Comparative graphs 
 Regressions presented in scatter diagrams with trend line, 1999-2014 
 Regression equations (with t-value), 1999-2014  
 R² for each pair of data series, 1999-2014 
 
Year-on-year evolutions:  

Comparative graphs 
 Regressions presented in scatter diagrams with trend line, 2000-2014 
 R² for each pair of data series, 2000-2014 
 
 



OLS regression results (zero intercept) correlation of time series

ECB = 0.987 * ECFIN (t = 1484) R² = 0.99 ECB  /  ECFIN R² = 0.99

OECD = 0.986 * ECFIN (t = 1314) R² = 0.98 OECD  /  ECFIN R² = 0.99

IMF = 0.991 * ECFIN (t = 1298) R² = 0.99 IMF  /  ECFIN R² = 0.99

BIS = 0.985 * ECFIN (t = 1214) R² = 0.98 BIS  /  ECFIN R² = 0.98

OECD = 0.999 * ECB (t = 1847) R² = 0.99 OECD  /  ECB R² = 0.99

IMF = 1.003 * ECB (t = 1688) R² = 0.99 IMF  /  ECB R² = 0.99

BIS = 0.998 * ECB (t = 3354) R² = 1.00 BIS  /  ECB R² = 1.00

IMF = 1.004 * OECD (t = 971) R² = 0.97 IMF  /  OECD R² = 0.99

BIS = 0.999 * OECD (t = 1430) R² = 0.98 BIS  /  OECD R² = 0.99

BIS = 0.995 * IMF (t = 1722) R² = 0.99 BIS  /  IMF R² = 0.99

period 2000-2014period 1999-2014

Euro area: Real Effective Exchange Rates, deflated by HICP/CPI Euro area: Real Effective Exchange Rates, deflated by HICP/CPI

REER: pairwise comparison of time series (y-o-y % change)

correlation of time series

REER: pairwise comparison of time series (index numbers)

scatter diagrams and fi tted trendline (OLS, zero intercept)

75

80

85

90

95

100

105

110

1999 2000 2001 2002 2003 2004 2005 2006 2007 2008 2009 2010 2011 2012 2013 2014

Comparison of REER by different data providers: index numbers

ECFIN

ECB

OECD

IMF

BIS
rebased : average 2005 = 100

70

80

90

100

110

70 80 90 100 110

ECFIN / ECB

70

80

90

100

110

70 80 90 100 110

ECFIN / OECD

70

80

90

100

110

70 80 90 100 110

ECFIN / IMF

70

80

90

100

110

70 80 90 100 110

ECFIN / BIS

-15

-10

-5

0

5

10

15

20

1999 2000 2001 2002 2003 2004 2005 2006 2007 2008 2009 2010 2011 2012 2013 2014

Comparison of REER by different data providers: y-o-y % changes

ECFIN

ECB

OECD

IMF

BIS

-15

-10

-5

0

5

10

15

20

-15 -10 -5 0 5 10 15 20

ECFIN / ECB

70

80

90

100

110

70 80 90 100 110

ECB / OECD

70

80

90

100

110

70 80 90 100 110

ECB / IMF

70

80

90

100

110

70 80 90 100 110

ECB / BIS

70

80

90

100

110

70 80 90 100 110

IMF / BIS

70

80

90

100

110

70 80 90 100 110

OECD / IMF

70

80

90

100

110

70 80 90 100 110

OECD / BIS

-15

-10

-5

0

5

10

15

20

-15 -10 -5 0 5 10 15 20

ECFIN / OECD

-15

-10

-5

0

5

10

15

20

-15 -10 -5 0 5 10 15 20

ECFIN / IMF

-15

-10

-5

0

5

10

15

20

-15 -10 -5 0 5 10 15 20

ECFIN / BIS

-15

-10

-5

0

5

10

15

20

-15 -10 -5 0 5 10 15 20

ECB / OECD

-15

-10

-5

0

5

10

15

20

-15 -10 -5 0 5 10 15 20

ECB / IMF

-15

-10

-5

0

5

10

15

20

-15 -10 -5 0 5 10 15 20

ECB / BIS

-15

-10

-5

0

5

10

15

20

-15 -10 -5 0 5 10 15 20

IMF / BIS

-15

-10

-5

0

5

10

15

20

-15 -10 -5 0 5 10 15 20

OECD / IMF

-15

-10

-5

0

5

10

15

20

-15 -10 -5 0 5 10 15 20

OECD / BIS

 



OLS regression results (zero intercept) correlation of time series

ECB = 0.993 * ECFIN (t = 1886) R² = 0.95 ECB  /  ECFIN R² = 0.98

OECD = 0.987 * ECFIN (t = 1387) R² = 0.94 OECD  /  ECFIN R² = 0.97

IMF = 0.993 * ECFIN (t = 1394) R² = 0.96 IMF  /  ECFIN R² = 0.95

BIS = 0.989 * ECFIN (t = 1631) R² = 0.94 BIS  /  ECFIN R² = 0.95

OECD = 0.994 * ECB (t = 2571) R² = 0.99 OECD  /  ECB R² = 0.98

IMF = 1.000 * ECB (t = 1624) R² = 0.97 IMF  /  ECB R² = 0.97

BIS = 0.996 * ECB (t = 4094) R² = 0.99 BIS  /  ECB R² = 0.99

IMF = 1.006 * OECD (t = 1942) R² = 0.97 IMF  /  OECD R² = 0.96

BIS = 1.002 * OECD (t = 3886) R² = 0.99 BIS  /  OECD R² = 0.99

BIS = 0.995 * IMF (t = 2059) R² = 0.98 BIS  /  IMF R² = 0.98

period 2000-2014period 1999-2014

Belgium: Real Effective Exchange Rates, deflated by HICP/CPI Belgium: Real Effective Exchange Rates, deflated by HICP/CPI

REER: pairwise comparison of time series (y-o-y % change)

correlation of time series

REER: pairwise comparison of time series (index numbers)

REER: pairwise comparison of time series: scatter diagrams and fitted trendline (OLS, zero intercept)
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OLS regression results (zero intercept) correlation of time series

ECB = 0.998 * ECFIN (t = 955) R² = 1.00 ECB  /  ECFIN R² = 0.98

OECD = * * ECFIN R² =     n/a OECD  /  ECFIN R² =     n/a

IMF = 1.015 * ECFIN (t = 759) R² = 0.99 IMF  /  ECFIN R² = 0.90

BIS = 1.007 * ECFIN (t = 976) R² = 1.00 BIS  /  ECFIN R² = 0.95

OECD = * * ECB R² =     n/a OECD  /  ECB R² =     n/a

IMF = 1.016 * ECB (t = 942) R² = 0.99 IMF  /  ECB R² = 0.90

BIS = 1.009 * ECB (t = 1368) R² = 0.99 BIS  /  ECB R² = 0.96

IMF = * * OECD R² =     n/a IMF  /  OECD R² =     n/a

BIS = * * OECD R² =     n/a BIS  /  OECD R² =     n/a

BIS = 0.992 * IMF (t = 1880) R² = 1.00 BIS  /  IMF R² = 0.96

period 2000-2014period 1999-2014

Bulgaria: Real Effective Exchange Rates, deflated by HICP/CPI Bulgaria: Real Effective Exchange Rates, deflated by HICP/CPI

REER: pairwise comparison of time series (y-o-y % change)

correlation of time series

REER: pairwise comparison of time series (index numbers)

scatter diagrams and fi tted trendline (OLS, zero intercept)
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OLS regression results (zero intercept) correlation of time series

ECB = 0.994 * ECFIN (t = 1005) R² = 1.00 ECB  /  ECFIN R² = 0.99

OECD = 0.997 * ECFIN (t = 2030) R² = 1.00 OECD  /  ECFIN R² = 1.00

IMF = 1.008 * ECFIN (t = 598) R² = 0.99 IMF  /  ECFIN R² = 0.86

BIS = 0.994 * ECFIN (t = 746) R² = 0.99 BIS  /  ECFIN R² = 0.98

OECD = 1.003 * ECB (t = 1736) R² = 1.00 OECD  /  ECB R² = 0.99

IMF = 1.014 * ECB (t = 743) R² = 0.99 IMF  /  ECB R² = 0.86

BIS = 1.000 * ECB (t = 2058) R² = 1.00 BIS  /  ECB R² = 1.00

IMF = 1.012 * OECD (t = 691) R² = 0.99 IMF  /  OECD R² = 0.86

BIS = 0.997 * OECD (t = 1127) R² = 1.00 BIS  /  OECD R² = 0.99

BIS = 0.985 * IMF (t = 699) R² = 0.98 BIS  /  IMF R² = 0.86

period 2000-2014period 1999-2014

Czech Republic: Real Effective Exchange Rates, deflated by HICP/CPI Czech Republic: Real Effective Exchange Rates, deflated by HICP/CPI

REER: pairwise comparison of time series (y-o-y % change)

correlation of time series

REER: pairwise comparison of time series (index numbers)

scatter diagrams and fi tted trendline (OLS, zero intercept)
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OLS regression results (zero intercept) correlation of time series

ECB = 0.995 * ECFIN (t = 2041) R² = 0.96 ECB  /  ECFIN R² = 0.99

OECD = 0.997 * ECFIN (t = 2432) R² = 0.98 OECD  /  ECFIN R² = 0.99

IMF = 1.005 * ECFIN (t = 1214) R² = 0.89 IMF  /  ECFIN R² = 0.97

BIS = 0.994 * ECFIN (t = 3083) R² = 0.98 BIS  /  ECFIN R² = 0.98

OECD = 1.002 * ECB (t = 1248) R² = 0.90 OECD  /  ECB R² = 0.99

IMF = 1.010 * ECB (t = 806) R² = 0.75 IMF  /  ECB R² = 0.97

BIS = 0.999 * ECB (t = 3215) R² = 0.98 BIS  /  ECB R² = 0.99

IMF = 1.008 * OECD (t = 1599) R² = 0.94 IMF  /  OECD R² = 0.96

BIS = 0.998 * OECD (t = 1850) R² = 0.96 BIS  /  OECD R² = 0.99

BIS = 0.989 * IMF (t = 981) R² = 0.83 BIS  /  IMF R² = 0.97

period 2000-2014period 1999-2014

Denmark: Real Effective Exchange Rates, deflated by HICP/CPI Denmark: Real Effective Exchange Rates, deflated by HICP/CPI

REER: pairwise comparison of time series (y-o-y % change)

correlation of time series

REER: pairwise comparison of time series (index numbers)

scatter diagrams and fi tted trendline (OLS, zero intercept)
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OLS regression results (zero intercept) correlation of time series

ECB = 0.994 * ECFIN (t = 2455) R² = 0.98 ECB  /  ECFIN R² = 0.99

OECD = 0.995 * ECFIN (t = 1937) R² = 0.96 OECD  /  ECFIN R² = 0.99

IMF = 1.001 * ECFIN (t = 2727) R² = 0.98 IMF  /  ECFIN R² = 0.98

BIS = 0.991 * ECFIN (t = 1482) R² = 0.96 BIS  /  ECFIN R² = 0.98

OECD = 1.001 * ECB (t = 2517) R² = 0.98 OECD  /  ECB R² = 0.99

IMF = 1.007 * ECB (t = 2214) R² = 0.97 IMF  /  ECB R² = 0.98

BIS = 0.997 * ECB (t = 2344) R² = 0.98 BIS  /  ECB R² = 0.99

IMF = 1.005 * OECD (t = 1418) R² = 0.92 IMF  /  OECD R² = 0.97

BIS = 0.996 * OECD (t = 3249) R² = 0.99 BIS  /  OECD R² = 0.99

BIS = 0.991 * IMF (t = 1291) R² = 0.93 BIS  /  IMF R² = 0.99

period 2000-2014period 1999-2014

Germany: Real Effective Exchange Rates, deflated by HICP/CPI Germany: Real Effective Exchange Rates, deflated by HICP/CPI

REER: pairwise comparison of time series (y-o-y % change)

correlation of time series

REER: pairwise comparison of time series (index numbers)

scatter diagrams and fi tted trendline (OLS, zero intercept)
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OLS regression results (zero intercept) correlation of time series

ECB = 0.994 * ECFIN (t = 1038) R² = 0.99 ECB  /  ECFIN R² = 0.95

OECD = 0.994 * ECFIN (t = 1745) R² = 1.00 OECD  /  ECFIN R² = 0.97

IMF = * * ECFIN R² =     n/a IMF  /  ECFIN R² =     n/a

BIS = 0.990 * ECFIN (t = 1379) R² = 0.99 BIS  /  ECFIN R² = 0.93

OECD = 1.000 * ECB (t = 758) R² = 0.99 OECD  /  ECB R² = 0.93

IMF = * * ECB R² =     n/a IMF  /  ECB R² =     n/a

BIS = 0.996 * ECB (t = 1521) R² = 1.00 BIS  /  ECB R² = 0.97

IMF = * * OECD R² =     n/a IMF  /  OECD R² =     n/a

BIS = 0.996 * OECD (t = 1183) R² = 0.99 BIS  /  OECD R² = 0.94

BIS = * * IMF R² =     n/a BIS  /  IMF R² =     n/a

period 2000-2014period 1999-2014

Estonia: Real Effective Exchange Rates, deflated by HICP/CPI Estonia: Real Effective Exchange Rates, deflated by HICP/CPI

REER: pairwise comparison of time series (y-o-y % change)

correlation of time series

REER: pairwise comparison of time series (index numbers)

scatter diagrams and fi tted trendline (OLS, zero intercept)
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OLS regression results (zero intercept) correlation of time series

ECB = 0.991 * ECFIN (t = 1727) R² = 1.00 ECB  /  ECFIN R² = 0.99

OECD = 1.012 * ECFIN (t = 844) R² = 0.98 OECD  /  ECFIN R² = 0.95

IMF = 1.014 * ECFIN (t = 677) R² = 0.97 IMF  /  ECFIN R² = 0.93

BIS = 1.005 * ECFIN (t = 840) R² = 0.98 BIS  /  ECFIN R² = 0.95

OECD = 1.022 * ECB (t = 766) R² = 0.96 OECD  /  ECB R² = 0.94

IMF = 1.024 * ECB (t = 660) R² = 0.95 IMF  /  ECB R² = 0.93

BIS = 1.014 * ECB (t = 900) R² = 0.97 BIS  /  ECB R² = 0.95

IMF = 1.002 * OECD (t = 2006) R² = 1.00 IMF  /  OECD R² = 0.98

BIS = 0.993 * OECD (t = 1985) R² = 0.99 BIS  /  OECD R² = 0.99

BIS = 0.991 * IMF (t = 1733) R² = 0.99 BIS  /  IMF R² = 0.99

period 2000-2014period 1999-2014

Ireland: Real Effective Exchange Rates, deflated by HICP/CPI Ireland: Real Effective Exchange Rates, deflated by HICP/CPI

REER: pairwise comparison of time series (y-o-y % change)

correlation of time series

REER: pairwise comparison of time series (index numbers)

scatter diagrams and fi tted trendline (OLS, zero intercept)

70

75

80

85

90

95

100

105

110

115

120

1999 2000 2001 2002 2003 2004 2005 2006 2007 2008 2009 2010 2011 2012 2013 2014

Comparison of REER by different data providers: index numbers

ECFIN

ECB

OECD

IMF

BISrebased : average 2005 = 100

70

80

90

100

110

120

70 80 90 100 110 120

ECFIN / ECB

70

80

90

100

110

120

70 80 90 100 110 120

ECFIN / OECD

70

80

90

100

110

120

70 80 90 100 110 120

ECFIN / IMF

70

80

90

100

110

120

70 80 90 100 110 120

ECFIN / BIS

-15

-10

-5

0

5

10

15

1999 2000 2001 2002 2003 2004 2005 2006 2007 2008 2009 2010 2011 2012 2013 2014

Comparison of REER by different data providers: y-o-y % changes

ECFIN

ECB

OECD

IMF

BIS

-15

-10

-5

0

5

10

15

-15 -10 -5 0 5 10 15

ECFIN / ECB

70

80

90

100

110

120

70 80 90 100 110 120

ECB / OECD

70

80

90

100

110

120

70 80 90 100 110 120

ECB / IMF

70

80

90

100

110

120

70 80 90 100 110 120

ECB / BIS

70

80

90

100

110

120

70 80 90 100 110 120

IMF / BIS

70

80

90

100

110

120

70 80 90 100 110 120

OECD / IMF

70

80

90

100

110

120

70 80 90 100 110 120

OECD / BIS

-15

-10

-5

0

5

10

15

-15 -10 -5 0 5 10 15

ECFIN / OECD

-15

-10

-5

0

5

10

15

-15 -10 -5 0 5 10 15

ECFIN / IMF

-15

-10

-5

0

5

10

15

-15 -10 -5 0 5 10 15

ECFIN / BIS

-15

-10

-5

0

5

10

15

-15 -10 -5 0 5 10 15

ECB / OECD

-15

-10

-5

0

5

10

15

-15 -10 -5 0 5 10 15

ECB / IMF

-15

-10

-5

0

5

10

15

-15 -10 -5 0 5 10 15

ECB / BIS

-15

-10

-5

0

5

10

15

-15 -10 -5 0 5 10 15

IMF / BIS

-15

-10

-5

0

5

10

15

-15 -10 -5 0 5 10 15

OECD / IMF

-15

-10

-5

0

5

10

15

-15 -10 -5 0 5 10 15

OECD / BIS

 



OLS regression results (zero intercept) correlation of time series

ECB = 0.996 * ECFIN (t = 736) R² = 0.91 ECB  /  ECFIN R² = 0.95

OECD = 0.995 * ECFIN (t = 795) R² = 0.93 OECD  /  ECFIN R² = 0.96

IMF = 1.005 * ECFIN (t = 501) R² = 0.84 IMF  /  ECFIN R² = 0.90

BIS = 0.998 * ECFIN (t = 887) R² = 0.94 BIS  /  ECFIN R² = 0.94

OECD = 0.999 * ECB (t = 1492) R² = 0.97 OECD  /  ECB R² = 0.98

IMF = 1.010 * ECB (t = 1076) R² = 0.96 IMF  /  ECB R² = 0.97

BIS = 1.002 * ECB (t = 1473) R² = 0.97 BIS  /  ECB R² = 0.99

IMF = 1.011 * OECD (t = 913) R² = 0.94 IMF  /  OECD R² = 0.94

BIS = 1.003 * OECD (t = 2838) R² = 0.99 BIS  /  OECD R² = 0.98

BIS = 0.992 * IMF (t = 943) R² = 0.95 BIS  /  IMF R² = 0.98

period 2000-2014period 1999-2014

Greece: Real Effective Exchange Rates, deflated by HICP/CPI Greece: Real Effective Exchange Rates, deflated by HICP/CPI

REER: pairwise comparison of time series (y-o-y % change)

correlation of time series

REER: pairwise comparison of time series (index numbers)

scatter diagrams and fi tted trendline (OLS, zero intercept)
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OLS regression results (zero intercept) correlation of time series

ECB = 0.993 * ECFIN (t = 1823) R² = 0.98 ECB  /  ECFIN R² = 0.97

OECD = 0.995 * ECFIN (t = 2633) R² = 0.99 OECD  /  ECFIN R² = 0.97

IMF = 1.004 * ECFIN (t = 1443) R² = 0.97 IMF  /  ECFIN R² = 0.92

BIS = 0.992 * ECFIN (t = 1769) R² = 0.98 BIS  /  ECFIN R² = 0.96

OECD = 1.001 * ECB (t = 2003) R² = 0.99 OECD  /  ECB R² = 0.98

IMF = 1.011 * ECB (t = 1125) R² = 0.96 IMF  /  ECB R² = 0.94

BIS = 0.998 * ECB (t = 2827) R² = 0.99 BIS  /  ECB R² = 0.99

IMF = 1.009 * OECD (t = 1317) R² = 0.97 IMF  /  OECD R² = 0.93

BIS = 0.997 * OECD (t = 2463) R² = 0.99 BIS  /  OECD R² = 0.99

BIS = 0.987 * IMF (t = 985) R² = 0.94 BIS  /  IMF R² = 0.95

period 2000-2014period 1999-2014

Spain: Real Effective Exchange Rates, deflated by HICP/CPI Spain: Real Effective Exchange Rates, deflated by HICP/CPI

REER: pairwise comparison of time series (y-o-y % change)

correlation of time series

REER: pairwise comparison of time series (index numbers)

scatter diagrams and fi tted trendline (OLS, zero intercept)
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OLS regression results (zero intercept) correlation of time series

ECB = 0.995 * ECFIN (t = 3069) R² = 0.98 ECB  /  ECFIN R² = 0.99

OECD = 0.994 * ECFIN (t = 1914) R² = 0.95 OECD  /  ECFIN R² = 0.99

IMF = 1.001 * ECFIN (t = 2149) R² = 0.96 IMF  /  ECFIN R² = 0.96

BIS = 0.991 * ECFIN (t = 1282) R² = 0.90 BIS  /  ECFIN R² = 0.98

OECD = 0.999 * ECB (t = 3305) R² = 0.98 OECD  /  ECB R² = 0.99

IMF = 1.005 * ECB (t = 1720) R² = 0.94 IMF  /  ECB R² = 0.97

BIS = 0.996 * ECB (t = 1808) R² = 0.95 BIS  /  ECB R² = 1.00

IMF = 1.007 * OECD (t = 1210) R² = 0.88 IMF  /  OECD R² = 0.96

BIS = 0.997 * OECD (t = 3188) R² = 0.99 BIS  /  OECD R² = 0.99

BIS = 0.990 * IMF (t = 946) R² = 0.82 BIS  /  IMF R² = 0.97

period 2000-2014period 1999-2014

France: Real Effective Exchange Rates, deflated by HICP/CPI France: Real Effective Exchange Rates, deflated by HICP/CPI

REER: pairwise comparison of time series (y-o-y % change)

correlation of time series

REER: pairwise comparison of time series (index numbers)

scatter diagrams and fi tted trendline (OLS, zero intercept)
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OLS regression results (zero intercept) correlation of time series

ECB = 0.997 * ECFIN (t = 948) R² = 0.95 ECB  /  ECFIN R² = 0.91

OECD = * * ECFIN R² =     n/a OECD  /  ECFIN R² =     n/a

IMF = 1.008 * ECFIN (t = 677) R² = 0.86 IMF  /  ECFIN R² = 0.84

BIS = 1.002 * ECFIN (t = 1097) R² = 0.94 BIS  /  ECFIN R² = 0.89

OECD = * * ECB R² =     n/a OECD  /  ECB R² =     n/a

IMF = 1.012 * ECB (t = 1182) R² = 0.95 IMF  /  ECB R² = 0.90

BIS = 1.005 * ECB (t = 2365) R² = 0.99 BIS  /  ECB R² = 0.97

IMF = * * OECD R² =     n/a IMF  /  OECD R² =     n/a

BIS = * * OECD R² =     n/a BIS  /  OECD R² =     n/a

BIS = 0.994 * IMF (t = 1396) R² = 0.97 BIS  /  IMF R² = 0.95

period 2000-2014period 1999-2014

Croatia: Real Effective Exchange Rates, deflated by HICP/CPI Croatia: Real Effective Exchange Rates, deflated by HICP/CPI

REER: pairwise comparison of time series (y-o-y % change)

correlation of time series

REER: pairwise comparison of time series (index numbers)

scatter diagrams and fi tted trendline (OLS, zero intercept)
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OLS regression results (zero intercept) correlation of time series

ECB = 0.994 * ECFIN (t = 1735) R² = 0.96 ECB  /  ECFIN R² = 0.99

OECD = 0.993 * ECFIN (t = 1390) R² = 0.93 OECD  /  ECFIN R² = 0.99

IMF = 1.001 * ECFIN (t = 1892) R² = 0.96 IMF  /  ECFIN R² = 0.98

BIS = 0.993 * ECFIN (t = 1291) R² = 0.92 BIS  /  ECFIN R² = 0.98

OECD = 0.998 * ECB (t = 3755) R² = 0.99 OECD  /  ECB R² = 0.98

IMF = 1.006 * ECB (t = 1594) R² = 0.95 IMF  /  ECB R² = 0.98

BIS = 0.999 * ECB (t = 3779) R² = 0.99 BIS  /  ECB R² = 1.00

IMF = 1.008 * OECD (t = 1264) R² = 0.92 IMF  /  OECD R² = 0.96

BIS = 1.000 * OECD (t = 4907) R² = 0.99 BIS  /  OECD R² = 0.99

BIS = 0.992 * IMF (t = 1198) R² = 0.91 BIS  /  IMF R² = 0.98

period 2000-2014period 1999-2014

Italy: Real Effective Exchange Rates, deflated by HICP/CPI Italy: Real Effective Exchange Rates, deflated by HICP/CPI

REER: pairwise comparison of time series (y-o-y % change)

correlation of time series

REER: pairwise comparison of time series (index numbers)

scatter diagrams and fi tted trendline (OLS, zero intercept)
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OLS regression results (zero intercept) correlation of time series

ECB = 0.991 * ECFIN (t = 1028) R² = 0.90 ECB  /  ECFIN R² = 0.91

OECD = * * ECFIN R² =     n/a OECD  /  ECFIN R² =     n/a

IMF = 1.006 * ECFIN (t = 561) R² = 0.84 IMF  /  ECFIN R² = 0.74

BIS = 0.994 * ECFIN (t = 1088) R² = 0.95 BIS  /  ECFIN R² = 0.91

OECD = * * ECB R² =     n/a OECD  /  ECB R² =     n/a

IMF = 1.015 * ECB (t = 602) R² = 0.84 IMF  /  ECB R² = 0.64

BIS = 1.003 * ECB (t = 1225) R² = 0.94 BIS  /  ECB R² = 0.92

IMF = * * OECD R² =     n/a IMF  /  OECD R² =     n/a

BIS = * * OECD R² =     n/a BIS  /  OECD R² =     n/a

BIS = 0.988 * IMF (t = 722) R² = 0.88 BIS  /  IMF R² = 0.77

period 2000-2014period 1999-2014

Cyprus: Real Effective Exchange Rates, deflated by HICP/CPI Cyprus: Real Effective Exchange Rates, deflated by HICP/CPI

REER: pairwise comparison of time series (y-o-y % change)

correlation of time series

REER: pairwise comparison of time series (index numbers)

scatter diagrams and fi tted trendline (OLS, zero intercept)
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OLS regression results (zero intercept) correlation of time series

ECB = 1.000 * ECFIN (t = 1079) R² = 0.98 ECB  /  ECFIN R² = 0.96

OECD = 1.011 * ECFIN (t = 680) R² = 0.93 OECD  /  ECFIN R² = 0.96

IMF = 1.019 * ECFIN (t = 849) R² = 0.97 IMF  /  ECFIN R² = 0.93

BIS = 1.011 * ECFIN (t = 1121) R² = 0.97 BIS  /  ECFIN R² = 0.97

OECD = 1.011 * ECB (t = 747) R² = 0.93 OECD  /  ECB R² = 0.90

IMF = 1.019 * ECB (t = 624) R² = 0.96 IMF  /  ECB R² = 0.91

BIS = 1.011 * ECB (t = 1514) R² = 0.99 BIS  /  ECB R² = 0.99

IMF = 1.008 * OECD (t = 491) R² = 0.90 IMF  /  OECD R² = 0.90

BIS = 1.000 * OECD (t = 835) R² = 0.95 BIS  /  OECD R² = 0.93

BIS = 0.992 * IMF (t = 780) R² = 0.97 BIS  /  IMF R² = 0.93

period 2000-2014period 1999-2014

Latvia: Real Effective Exchange Rates, deflated by HICP/CPI Latvia: Real Effective Exchange Rates, deflated by HICP/CPI

REER: pairwise comparison of time series (y-o-y % change)

correlation of time series

REER: pairwise comparison of time series (index numbers)

scatter diagrams and fi tted trendline (OLS, zero intercept)
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OLS regression results (zero intercept) correlation of time series

ECB = 0.999 * ECFIN (t = 1390) R² = 0.98 ECB  /  ECFIN R² = 0.94

OECD = * * ECFIN R² =     n/a OECD  /  ECFIN R² =     n/a

IMF = * * ECFIN R² =     n/a IMF  /  ECFIN R² =     n/a

BIS = 1.004 * ECFIN (t = 1615) R² = 0.99 BIS  /  ECFIN R² = 0.96

OECD = * * ECB R² =     n/a OECD  /  ECB R² =     n/a

IMF = * * ECB R² =     n/a IMF  /  ECB R² =     n/a

BIS = 1.006 * ECB (t = 2491) R² = 0.99 BIS  /  ECB R² = 0.99

IMF = * * OECD R² =     n/a IMF  /  OECD R² =     n/a

BIS = * * OECD R² =     n/a BIS  /  OECD R² =     n/a

BIS = * * IMF R² =     n/a BIS  /  IMF R² =     n/a

period 2000-2014period 1999-2014

Lithuania: Real Effective Exchange Rates, deflated by HICP/CPI Lithuania: Real Effective Exchange Rates, deflated by HICP/CPI

REER: pairwise comparison of time series (y-o-y % change)

correlation of time series

REER: pairwise comparison of time series (index numbers)

scatter diagrams and fi tted trendline (OLS, zero intercept)
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OLS regression results (zero intercept) correlation of time series

ECB = 0.981 * ECFIN (t = 858) R² = 0.88 ECB  /  ECFIN R² = 0.85

OECD = 0.995 * ECFIN (t = 844) R² = 0.92 OECD  /  ECFIN R² = 0.88

IMF = 1.001 * ECFIN (t = 890) R² = 0.94 IMF  /  ECFIN R² = 0.88

BIS = 1.000 * ECFIN (t = 748) R² = 0.94 BIS  /  ECFIN R² = 0.86

OECD = 1.015 * ECB (t = 914) R² = 0.95 OECD  /  ECB R² = 0.87

IMF = 1.020 * ECB (t = 839) R² = 0.92 IMF  /  ECB R² = 0.79

BIS = 1.019 * ECB (t = 705) R² = 0.92 BIS  /  ECB R² = 0.87

IMF = 1.006 * OECD (t = 2121) R² = 0.96 IMF  /  OECD R² = 0.92

BIS = 1.005 * OECD (t = 2524) R² = 0.99 BIS  /  OECD R² = 0.98

BIS = 0.999 * IMF (t = 1903) R² = 0.96 BIS  /  IMF R² = 0.92

period 2000-2014period 1999-2014

Luxembourg: Real Effective Exchange Rates, deflated by HICP/CPI Luxembourg: Real Effective Exchange Rates, deflated by HICP/CPI

REER: pairwise comparison of time series (y-o-y % change)

correlation of time series

REER: pairwise comparison of time series (index numbers)

scatter diagrams and fi tted trendline (OLS, zero intercept)
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OLS regression results (zero intercept) correlation of time series

ECB = 0.991 * ECFIN (t = 962) R² = 0.99 ECB  /  ECFIN R² = 0.99

OECD = 0.993 * ECFIN (t = 1735) R² = 1.00 OECD  /  ECFIN R² = 0.99

IMF = 1.005 * ECFIN (t = 786) R² = 0.99 IMF  /  ECFIN R² = 0.99

BIS = 0.992 * ECFIN (t = 1003) R² = 1.00 BIS  /  ECFIN R² = 0.99

OECD = 1.001 * ECB (t = 1701) R² = 1.00 OECD  /  ECB R² = 0.99

IMF = 1.013 * ECB (t = 917) R² = 0.98 IMF  /  ECB R² = 0.99

BIS = 1.001 * ECB (t = 3069) R² = 1.00 BIS  /  ECB R² = 1.00

IMF = 1.012 * OECD (t = 833) R² = 0.98 IMF  /  OECD R² = 0.99

BIS = 1.000 * OECD (t = 1862) R² = 1.00 BIS  /  OECD R² = 1.00

BIS = 0.987 * IMF (t = 988) R² = 0.99 BIS  /  IMF R² = 0.99

period 2000-2014period 1999-2014

Hungary: Real Effective Exchange Rates, deflated by HICP/CPI Hungary: Real Effective Exchange Rates, deflated by HICP/CPI

REER: pairwise comparison of time series (y-o-y % change)

correlation of time series

REER: pairwise comparison of time series (index numbers)

scatter diagrams and fi tted trendline (OLS, zero intercept)
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OLS regression results (zero intercept) correlation of time series

ECB = 0.998 * ECFIN (t = 727) R² = 0.86 ECB  /  ECFIN R² = 0.93

OECD = * * ECFIN R² =     n/a OECD  /  ECFIN R² =     n/a

IMF = 0.993 * ECFIN (t = 684) R² = 0.86 IMF  /  ECFIN R² = 0.91

BIS = 1.005 * ECFIN (t = 1331) R² = 0.96 BIS  /  ECFIN R² = 0.85

OECD = * * ECB R² =     n/a OECD  /  ECB R² =     n/a

IMF = 0.995 * ECB (t = 876) R² = 0.98 IMF  /  ECB R² = 0.93

BIS = 1.006 * ECB (t = 730) R² = 0.83 BIS  /  ECB R² = 0.92

IMF = * * OECD R² =     n/a IMF  /  OECD R² =     n/a

BIS = * * OECD R² =     n/a BIS  /  OECD R² =     n/a

BIS = 1.011 * IMF (t = 594) R² = 0.82 BIS  /  IMF R² = 0.85

period 2000-2014period 1999-2014

Malta: Real Effective Exchange Rates, deflated by HICP/CPI Malta: Real Effective Exchange Rates, deflated by HICP/CPI

REER: pairwise comparison of time series (y-o-y % change)

correlation of time series

REER: pairwise comparison of time series (index numbers)

scatter diagrams and fi tted trendline (OLS, zero intercept)
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OLS regression results (zero intercept) correlation of time series

ECB = 0.981 * ECFIN (t = 789) R² = 0.93 ECB  /  ECFIN R² = 0.94

OECD = 0.991 * ECFIN (t = 1727) R² = 0.96 OECD  /  ECFIN R² = 0.96

IMF = 0.997 * ECFIN (t = 1011) R² = 0.90 IMF  /  ECFIN R² = 0.94

BIS = 0.984 * ECFIN (t = 949) R² = 0.94 BIS  /  ECFIN R² = 0.91

OECD = 1.010 * ECB (t = 1092) R² = 0.96 OECD  /  ECB R² = 0.96

IMF = 1.016 * ECB (t = 788) R² = 0.86 IMF  /  ECB R² = 0.96

BIS = 1.003 * ECB (t = 2214) R² = 0.98 BIS  /  ECB R² = 0.99

IMF = 1.006 * OECD (t = 982) R² = 0.87 IMF  /  OECD R² = 0.96

BIS = 0.992 * OECD (t = 1618) R² = 0.99 BIS  /  OECD R² = 0.97

BIS = 0.986 * IMF (t = 933) R² = 0.88 BIS  /  IMF R² = 0.97

period 2000-2014period 1999-2014

Netherlands: Real Effective Exchange Rates, deflated by HICP/CPI Netherlands: Real Effective Exchange Rates, deflated by HICP/CPI

REER: pairwise comparison of time series (y-o-y % change)

correlation of time series

REER: pairwise comparison of time series (index numbers)

scatter diagrams and fi tted trendline (OLS, zero intercept)

80

85

90

95

100

105

1999 2000 2001 2002 2003 2004 2005 2006 2007 2008 2009 2010 2011 2012 2013 2014

Comparison of REER by different data providers: index numbers

ECFIN

ECB

OECD

IMF

BISrebased : average 2005 = 100

85

90

95

100

105

85 90 95 100 105

ECFIN / ECB

85

90

95

100

105

85 90 95 100 105

ECFIN / OECD

85

90

95

100

105

85 90 95 100 105

ECFIN / IMF

85

90

95

100

105

85 90 95 100 105

ECFIN / BIS

-10

-5

0

5

10

1999 2000 2001 2002 2003 2004 2005 2006 2007 2008 2009 2010 2011 2012 2013 2014

Comparison of REER by different data providers: y-o-y % changes

ECFIN

ECB

OECD

IMF

BIS

-10

0

10

-10 0 10

ECFIN / ECB

85

90

95

100

105

85 90 95 100 105

ECB / OECD

85

90

95

100

105

85 90 95 100 105

ECB / IMF

85

90

95

100

105

85 90 95 100 105

ECB / BIS

85

90

95

100

105

85 90 95 100 105

IMF / BIS

85

90

95

100

105

85 90 95 100 105

OECD / IMF

85

90

95

100

105

85 90 95 100 105

OECD / BIS

-10

0

10

-10 0 10

ECFIN / OECD

-10

0

10

-10 0 10

ECFIN / IMF

-10

0

10

-10 0 10

ECFIN / BIS

-10

0

10

-10 0 10

ECB / OECD

-10

0

10

-10 0 10

ECB / IMF

-10

0

10

-10 0 10

ECB / BIS

-10

0

10

-10 0 10

IMF / BIS

-10

0

10

-10 0 10

OECD / IMF

-10

0

10

-10 0 10

OECD / BIS

 



OLS regression results (zero intercept) correlation of time series

ECB = 0.997 * ECFIN (t = 3753) R² = 0.96 ECB  /  ECFIN R² = 0.98

OECD = 0.994 * ECFIN (t = 1975) R² = 0.86 OECD  /  ECFIN R² = 0.98

IMF = 0.997 * ECFIN (t = 1008) R² = 0.59 IMF  /  ECFIN R² = 0.95

BIS = 0.991 * ECFIN (t = 1972) R² = 0.87 BIS  /  ECFIN R² = 0.96

OECD = 0.997 * ECB (t = 2175) R² = 0.88 OECD  /  ECB R² = 0.98

IMF = 1.000 * ECB (t = 1030) R² = 0.60 IMF  /  ECB R² = 0.97

BIS = 0.995 * ECB (t = 2465) R² = 0.92 BIS  /  ECB R² = 0.98

IMF = 1.003 * OECD (t = 1661) R² = 0.85 IMF  /  OECD R² = 0.97

BIS = 0.997 * OECD (t = 4717) R² = 0.98 BIS  /  OECD R² = 0.98

BIS = 0.994 * IMF (t = 1420) R² = 0.79 BIS  /  IMF R² = 0.98

period 2000-2014period 1999-2014

Austria: Real Effective Exchange Rates, deflated by HICP/CPI Austria: Real Effective Exchange Rates, deflated by HICP/CPI

REER: pairwise comparison of time series (y-o-y % change)

correlation of time series

REER: pairwise comparison of time series (index numbers)

scatter diagrams and fi tted trendline (OLS, zero intercept)
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OLS regression results (zero intercept) correlation of time series

ECB = 0.995 * ECFIN (t = 1080) R² = 0.98 ECB  /  ECFIN R² = 1.00

OECD = 0.996 * ECFIN (t = 3184) R² = 1.00 OECD  /  ECFIN R² = 1.00

IMF = 1.003 * ECFIN (t = 963) R² = 0.97 IMF  /  ECFIN R² = 1.00

BIS = 0.992 * ECFIN (t = 1370) R² = 0.99 BIS  /  ECFIN R² = 0.99

OECD = 1.001 * ECB (t = 992) R² = 0.97 OECD  /  ECB R² = 1.00

IMF = 1.008 * ECB (t = 1547) R² = 0.99 IMF  /  ECB R² = 1.00

BIS = 0.997 * ECB (t = 2147) R² = 0.99 BIS  /  ECB R² = 1.00

IMF = 1.007 * OECD (t = 819) R² = 0.96 IMF  /  OECD R² = 1.00

BIS = 0.997 * OECD (t = 1379) R² = 0.99 BIS  /  OECD R² = 1.00

BIS = 0.989 * IMF (t = 1096) R² = 0.98 BIS  /  IMF R² = 1.00

period 2000-2014period 1999-2014

Poland: Real Effective Exchange Rates, deflated by HICP/CPI Poland: Real Effective Exchange Rates, deflated by HICP/CPI

REER: pairwise comparison of time series (y-o-y % change)

correlation of time series

REER: pairwise comparison of time series (index numbers)

scatter diagrams and fi tted trendline (OLS, zero intercept)
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OLS regression results (zero intercept) correlation of time series

ECB = 0.998 * ECFIN (t = 2045) R² = 0.98 ECB  /  ECFIN R² = 0.98

OECD = 1.000 * ECFIN (t = 2511) R² = 0.99 OECD  /  ECFIN R² = 0.98

IMF = 1.006 * ECFIN (t = 1469) R² = 0.94 IMF  /  ECFIN R² = 0.95

BIS = 1.001 * ECFIN (t = 2222) R² = 0.99 BIS  /  ECFIN R² = 0.98

OECD = 1.001 * ECB (t = 4208) R² = 0.99 OECD  /  ECB R² = 0.98

IMF = 1.007 * ECB (t = 1036) R² = 0.88 IMF  /  ECB R² = 0.94

BIS = 1.003 * ECB (t = 3918) R² = 0.99 BIS  /  ECB R² = 0.99

IMF = 1.006 * OECD (t = 1099) R² = 0.89 IMF  /  OECD R² = 0.93

BIS = 1.002 * OECD (t = 5845) R² = 1.00 BIS  /  OECD R² = 0.99

BIS = 0.995 * IMF (t = 1174) R² = 0.91 BIS  /  IMF R² = 0.95

period 2000-2014period 1999-2014

Portugal: Real Effective Exchange Rates, deflated by HICP/CPI Portugal: Real Effective Exchange Rates, deflated by HICP/CPI

REER: pairwise comparison of time series (y-o-y % change)

correlation of time series

REER: pairwise comparison of time series (index numbers)

scatter diagrams and fi tted trendline (OLS, zero intercept)
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OLS regression results (zero intercept) correlation of time series

ECB = 0.994 * ECFIN (t = 2344) R² = 1.00 ECB  /  ECFIN R² = 1.00

OECD = * * ECFIN R² =     n/a OECD  /  ECFIN R² =     n/a

IMF = 1.003 * ECFIN (t = 2379) R² = 1.00 IMF  /  ECFIN R² = 0.99

BIS = 0.993 * ECFIN (t = 2584) R² = 1.00 BIS  /  ECFIN R² = 1.00

OECD = * * ECB R² =     n/a OECD  /  ECB R² =     n/a

IMF = 1.009 * ECB (t = 1861) R² = 1.00 IMF  /  ECB R² = 0.99

BIS = 1.000 * ECB (t = 4088) R² = 1.00 BIS  /  ECB R² = 1.00

IMF = * * OECD R² =     n/a IMF  /  OECD R² =     n/a

BIS = * * OECD R² =     n/a BIS  /  OECD R² =     n/a

BIS = 0.991 * IMF (t = 1965) R² = 1.00 BIS  /  IMF R² = 1.00

period 2000-2014period 1999-2014

Romania: Real Effective Exchange Rates, deflated by HICP/CPI Romania: Real Effective Exchange Rates, deflated by HICP/CPI

REER: pairwise comparison of time series (y-o-y % change)

correlation of time series

REER: pairwise comparison of time series (index numbers)

scatter diagrams and fi tted trendline (OLS, zero intercept)
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OLS regression results (zero intercept) correlation of time series

ECB = 0.998 * ECFIN (t = 1221) R² = 0.87 ECB  /  ECFIN R² = 0.93

OECD = 0.994 * ECFIN (t = 1167) R² = 0.86 OECD  /  ECFIN R² = 0.91

IMF = * * ECFIN R² =     n/a IMF  /  ECFIN R² =     n/a

BIS = 0.996 * ECFIN (t = 1507) R² = 0.87 BIS  /  ECFIN R² = 0.92

OECD = 0.996 * ECB (t = 1841) R² = 0.93 OECD  /  ECB R² = 0.95

IMF = * * ECB R² =     n/a IMF  /  ECB R² =     n/a

BIS = 0.998 * ECB (t = 2232) R² = 0.96 BIS  /  ECB R² = 0.98

IMF = * * OECD R² =     n/a IMF  /  OECD R² =     n/a

BIS = 1.002 * OECD (t = 2837) R² = 0.98 BIS  /  OECD R² = 0.96

BIS = * * IMF R² =     n/a BIS  /  IMF R² =     n/a

period 2000-2014period 1999-2014

Slovenia: Real Effective Exchange Rates, deflated by HICP/CPI Slovenia: Real Effective Exchange Rates, deflated by HICP/CPI

REER: pairwise comparison of time series (y-o-y % change)

correlation of time series

REER: pairwise comparison of time series (index numbers)

scatter diagrams and fi tted trendline (OLS, zero intercept)
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OLS regression results (zero intercept) correlation of time series

ECB = 0.994 * ECFIN (t = 2168) R² = 1.00 ECB  /  ECFIN R² = 0.99

OECD = 1.006 * ECFIN (t = 2503) R² = 1.00 OECD  /  ECFIN R² = 0.99

IMF = 1.020 * ECFIN (t = 779) R² = 1.00 IMF  /  ECFIN R² = 0.98

BIS = 1.008 * ECFIN (t = 1221) R² = 1.00 BIS  /  ECFIN R² = 0.99

OECD = 1.012 * ECB (t = 1496) R² = 1.00 OECD  /  ECB R² = 0.99

IMF = 1.027 * ECB (t = 725) R² = 1.00 IMF  /  ECB R² = 0.98

BIS = 1.015 * ECB (t = 1194) R² = 1.00 BIS  /  ECB R² = 0.99

IMF = 1.014 * OECD (t = 747) R² = 1.00 IMF  /  OECD R² = 0.97

BIS = 1.003 * OECD (t = 1125) R² = 1.00 BIS  /  OECD R² = 0.99

BIS = 0.988 * IMF (t = 1299) R² = 1.00 BIS  /  IMF R² = 0.98

period 2000-2014period 1999-2014

Slovakia: Real Effective Exchange Rates, deflated by HICP/CPI Slovakia: Real Effective Exchange Rates, deflated by HICP/CPI

REER: pairwise comparison of time series (y-o-y % change)

correlation of time series

REER: pairwise comparison of time series (index numbers)

scatter diagrams and fi tted trendline (OLS, zero intercept)
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OLS regression results (zero intercept) correlation of time series

ECB = 1.000 * ECFIN (t = 3039) R² = 0.98 ECB  /  ECFIN R² = 0.99

OECD = 0.998 * ECFIN (t = 1129) R² = 0.86 OECD  /  ECFIN R² = 0.96

IMF = 1.005 * ECFIN (t = 1164) R² = 0.84 IMF  /  ECFIN R² = 0.93

BIS = 0.999 * ECFIN (t = 1380) R² = 0.89 BIS  /  ECFIN R² = 0.94

OECD = 0.998 * ECB (t = 1039) R² = 0.85 OECD  /  ECB R² = 0.96

IMF = 1.005 * ECB (t = 1428) R² = 0.88 IMF  /  ECB R² = 0.94

BIS = 0.999 * ECB (t = 1483) R² = 0.91 BIS  /  ECB R² = 0.95

IMF = 1.006 * OECD (t = 879) R² = 0.77 IMF  /  OECD R² = 0.96

BIS = 1.000 * OECD (t = 1802) R² = 0.95 BIS  /  OECD R² = 0.98

BIS = 0.994 * IMF (t = 1526) R² = 0.91 BIS  /  IMF R² = 0.98

period 2000-2014period 1999-2014

Finland: Real Effective Exchange Rates, deflated by HICP/CPI Finland: Real Effective Exchange Rates, deflated by HICP/CPI

REER: pairwise comparison of time series (y-o-y % change)

correlation of time series

REER: pairwise comparison of time series (index numbers)

scatter diagrams and fi tted trendline (OLS, zero intercept)
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OLS regression results (zero intercept) correlation of time series

ECB = 0.998 * ECFIN (t = 2484) R² = 0.98 ECB  /  ECFIN R² = 1.00

OECD = 0.998 * ECFIN (t = 850) R² = 0.89 OECD  /  ECFIN R² = 0.98

IMF = 1.003 * ECFIN (t = 1341) R² = 0.96 IMF  /  ECFIN R² = 0.97

BIS = 0.997 * ECFIN (t = 721) R² = 0.86 BIS  /  ECFIN R² = 0.97

OECD = 1.000 * ECB (t = 1121) R² = 0.94 OECD  /  ECB R² = 0.97

IMF = 1.005 * ECB (t = 1746) R² = 0.97 IMF  /  ECB R² = 0.97

BIS = 1.000 * ECB (t = 929) R² = 0.92 BIS  /  ECB R² = 0.98

IMF = 1.005 * OECD (t = 1250) R² = 0.95 IMF  /  OECD R² = 0.99

BIS = 0.999 * OECD (t = 3730) R² = 1.00 BIS  /  OECD R² = 1.00

BIS = 0.994 * IMF (t = 1030) R² = 0.93 BIS  /  IMF R² = 0.99

period 2000-2014period 1999-2014

Sweden: Real Effective Exchange Rates, deflated by HICP/CPI Sweden: Real Effective Exchange Rates, deflated by HICP/CPI

REER: pairwise comparison of time series (y-o-y % change)

correlation of time series

REER: pairwise comparison of time series (index numbers)

scatter diagrams and fi tted trendline (OLS, zero intercept)
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OLS regression results (zero intercept) correlation of time series

ECB = 0.991 * ECFIN (t = 1638) R² = 1.00 ECB  /  ECFIN R² = 0.99

OECD = 0.999 * ECFIN (t = 5378) R² = 1.00 OECD  /  ECFIN R² = 1.00

IMF = 0.994 * ECFIN (t = 290) R² = 0.79 IMF  /  ECFIN R² = 0.96

BIS = 0.995 * ECFIN (t = 2738) R² = 1.00 BIS  /  ECFIN R² = 1.00

OECD = 1.007 * ECB (t = 1587) R² = 1.00 OECD  /  ECB R² = 0.99

IMF = 1.002 * ECB (t = 268) R² = 0.79 IMF  /  ECB R² = 0.95

BIS = 1.004 * ECB (t = 3411) R² = 1.00 BIS  /  ECB R² = 1.00

IMF = 0.995 * OECD (t = 290) R² = 0.79 IMF  /  OECD R² = 0.95

BIS = 0.996 * OECD (t = 2629) R² = 1.00 BIS  /  OECD R² = 0.99

BIS = 0.999 * IMF (t = 276) R² = 0.79 BIS  /  IMF R² = 0.96

period 2000-2014period 1999-2014

United Kingdom: Real Effective Exchange Rates, deflated by HICP/CPI United Kingdom: Real Effective Exchange Rates, deflated by HICP/CPI

REER: pairwise comparison of time series (y-o-y % change)

correlation of time series

REER: pairwise comparison of time series (index numbers)

scatter diagrams and fi tted trendline (OLS, zero intercept)
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OLS regression results (zero intercept) correlation of time series

ECB = 0.980 * ECFIN (t = 1027) R² = 0.98 ECB  /  ECFIN R² = 0.98

OECD = 0.983 * ECFIN (t = 842) R² = 0.98 OECD  /  ECFIN R² = 0.99

IMF = 0.988 * ECFIN (t = 1004) R² = 0.99 IMF  /  ECFIN R² = 0.98

BIS = 0.979 * ECFIN (t = 934) R² = 0.98 BIS  /  ECFIN R² = 0.98

OECD = 1.004 * ECB (t = 1529) R² = 1.00 OECD  /  ECB R² = 1.00

IMF = 1.009 * ECB (t = 1356) R² = 0.99 IMF  /  ECB R² = 0.99

BIS = 0.999 * ECB (t = 3965) R² = 1.00 BIS  /  ECB R² = 1.00

IMF = 1.005 * OECD (t = 1921) R² = 0.99 IMF  /  OECD R² = 0.99

BIS = 0.996 * OECD (t = 1798) R² = 1.00 BIS  /  OECD R² = 1.00

BIS = 0.991 * IMF (t = 1305) R² = 0.99 BIS  /  IMF R² = 0.99

period 2000-2014period 1999-2014

United States: Real Effective Exchange Rates, deflated by HICP/CPI United States: Real Effective Exchange Rates, deflated by HICP/CPI

REER: pairwise comparison of time series (y-o-y % change)

correlation of time series

REER: pairwise comparison of time series (index numbers)

scatter diagrams and fi tted trendline (OLS, zero intercept)
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OLS regression results (zero intercept) correlation of time series

ECB = 0.981 * ECFIN (t = 1177) R² = 0.99 ECB  /  ECFIN R² = 1.00

OECD = 0.975 * ECFIN (t = 880) R² = 0.99 OECD  /  ECFIN R² = 0.99

IMF = 0.988 * ECFIN (t = 1301) R² = 1.00 IMF  /  ECFIN R² = 0.99

BIS = 0.980 * ECFIN (t = 1087) R² = 0.99 BIS  /  ECFIN R² = 0.99

OECD = 0.994 * ECB (t = 2048) R² = 1.00 OECD  /  ECB R² = 1.00

IMF = 1.008 * ECB (t = 1110) R² = 0.99 IMF  /  ECB R² = 1.00

BIS = 0.999 * ECB (t = 4374) R² = 1.00 BIS  /  ECB R² = 1.00

IMF = 1.013 * OECD (t = 929) R² = 0.99 IMF  /  OECD R² = 0.99

BIS = 1.005 * OECD (t = 2332) R² = 1.00 BIS  /  OECD R² = 1.00

BIS = 0.991 * IMF (t = 1000) R² = 0.99 BIS  /  IMF R² = 1.00

period 2000-2014period 1999-2014

Japan: Real Effective Exchange Rates, deflated by HICP/CPI Japan: Real Effective Exchange Rates, deflated by HICP/CPI

REER: pairwise comparison of time series (y-o-y % change)

correlation of time series

REER: pairwise comparison of time series (index numbers)

scatter diagrams and fi tted trendline (OLS, zero intercept)
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OLS regression results (zero intercept) correlation of time series

ECB = 1.001 * ECFIN (t = 2639) R² = 0.99 ECB  /  ECFIN R² = 0.99

OECD = 1.000 * ECFIN (t = 2157) R² = 0.99 OECD  /  ECFIN R² = 0.99

IMF = 1.012 * ECFIN (t = 847) R² = 0.97 IMF  /  ECFIN R² = 0.95

BIS = 1.000 * ECFIN (t = 2392) R² = 0.99 BIS  /  ECFIN R² = 0.99

OECD = 0.999 * ECB (t = 4966) R² = 1.00 OECD  /  ECB R² = 1.00

IMF = 1.011 * ECB (t = 780) R² = 0.96 IMF  /  ECB R² = 0.96

BIS = 1.000 * ECB (t = 8107) R² = 1.00 BIS  /  ECB R² = 1.00

IMF = 1.012 * OECD (t = 726) R² = 0.95 IMF  /  OECD R² = 0.96

BIS = 1.000 * OECD (t = 6699) R² = 1.00 BIS  /  OECD R² = 1.00

BIS = 0.988 * IMF (t = 747) R² = 0.96 BIS  /  IMF R² = 0.96

period 2000-2014period 1999-2014

Switzerland: Real Effective Exchange Rates, deflated by HICP/CPI Switzerland: Real Effective Exchange Rates, deflated by HICP/CPI

REER: pairwise comparison of time series (y-o-y % change)

correlation of time series

REER: pairwise comparison of time series (index numbers)

scatter diagrams and fi tted trendline (OLS, zero intercept)
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OLS regression results (zero intercept) correlation of time series

ECB = 0.982 * ECFIN (t = 726) R² = 0.82 ECB  /  ECFIN R² = 0.97

OECD = 0.990 * ECFIN (t = 1658) R² = 0.97 OECD  /  ECFIN R² = 0.99

IMF = 0.989 * ECFIN (t = 1155) R² = 0.94 IMF  /  ECFIN R² = 0.96

BIS = 0.982 * ECFIN (t = 817) R² = 0.86 BIS  /  ECFIN R² = 0.97

OECD = 1.008 * ECB (t = 839) R² = 0.87 OECD  /  ECB R² = 0.99

IMF = 1.006 * ECB (t = 751) R² = 0.85 IMF  /  ECB R² = 0.99

BIS = 0.999 * ECB (t = 2615) R² = 0.99 BIS  /  ECB R² = 1.00

IMF = 0.999 * OECD (t = 2019) R² = 0.98 IMF  /  OECD R² = 0.98

BIS = 0.991 * OECD (t = 1077) R² = 0.92 BIS  /  OECD R² = 0.99

BIS = 0.993 * IMF (t = 908) R² = 0.90 BIS  /  IMF R² = 0.99

period 2000-2014period 1999-2014

Norway: Real Effective Exchange Rates, deflated by HICP/CPI Norway: Real Effective Exchange Rates, deflated by HICP/CPI

REER: pairwise comparison of time series (y-o-y % change)

correlation of time series

REER: pairwise comparison of time series (index numbers)

scatter diagrams and fi tted trendline (OLS, zero intercept)
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OLS regression results (zero intercept) correlation of time series

ECB = 1.004 * ECFIN (t = 618) R² = 0.98 ECB  /  ECFIN R² = 0.99

OECD = 1.001 * ECFIN (t = 633) R² = 0.98 OECD  /  ECFIN R² = 0.99

IMF = * * ECFIN R² =     n/a IMF  /  ECFIN R² =     n/a

BIS = 1.004 * ECFIN (t = 557) R² = 0.98 BIS  /  ECFIN R² = 0.99

OECD = 0.997 * ECB (t = 2963) R² = 1.00 OECD  /  ECB R² = 1.00

IMF = * * ECB R² =     n/a IMF  /  ECB R² =     n/a

BIS = 1.000 * ECB (t = 3086) R² = 1.00 BIS  /  ECB R² = 1.00

IMF = * * OECD R² =     n/a IMF  /  OECD R² =     n/a

BIS = 1.003 * OECD (t = 2374) R² = 1.00 BIS  /  OECD R² = 1.00

BIS = * * IMF R² =     n/a BIS  /  IMF R² =     n/a

period 2000-2014period 1999-2014

Turkey: Real Effective Exchange Rates, deflated by HICP/CPI Turkey: Real Effective Exchange Rates, deflated by HICP/CPI

REER: pairwise comparison of time series (y-o-y % change)

correlation of time series

REER: pairwise comparison of time series (index numbers)

scatter diagrams and fi tted trendline (OLS, zero intercept)
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OLS regression results (zero intercept) correlation of time series

ECB = 0.986 * ECFIN (t = 792) R² = 0.99 ECB  /  ECFIN R² = 0.99

OECD = 0.987 * ECFIN (t = 833) R² = 0.99 OECD  /  ECFIN R² = 0.99

IMF = 0.993 * ECFIN (t = 2192) R² = 1.00 IMF  /  ECFIN R² = 0.99

BIS = 0.987 * ECFIN (t = 866) R² = 0.99 BIS  /  ECFIN R² = 0.99

OECD = 1.000 * ECB (t = 3908) R² = 1.00 OECD  /  ECB R² = 1.00

IMF = 1.007 * ECB (t = 1030) R² = 1.00 IMF  /  ECB R² = 1.00

BIS = 1.001 * ECB (t = 5461) R² = 1.00 BIS  /  ECB R² = 1.00

IMF = 1.006 * OECD (t = 1105) R² = 1.00 IMF  /  OECD R² = 0.99

BIS = 1.001 * OECD (t = 3726) R² = 1.00 BIS  /  OECD R² = 1.00

BIS = 0.994 * IMF (t = 1129) R² = 1.00 BIS  /  IMF R² = 1.00

period 2000-2014period 1999-2014

Canada: Real Effective Exchange Rates, deflated by HICP/CPI Canada: Real Effective Exchange Rates, deflated by HICP/CPI

REER: pairwise comparison of time series (y-o-y % change)

correlation of time series

REER: pairwise comparison of time series (index numbers)

scatter diagrams and fi tted trendline (OLS, zero intercept)
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OLS regression results (zero intercept) correlation of time series

ECB = 0.983 * ECFIN (t = 1032) R² = 1.00 ECB  /  ECFIN R² = 0.99

OECD = 0.984 * ECFIN (t = 1475) R² = 1.00 OECD  /  ECFIN R² = 0.99

IMF = 0.992 * ECFIN (t = 963) R² = 0.99 IMF  /  ECFIN R² = 0.98

BIS = 0.983 * ECFIN (t = 1051) R² = 1.00 BIS  /  ECFIN R² = 0.99

OECD = 1.002 * ECB (t = 1777) R² = 1.00 OECD  /  ECB R² = 1.00

IMF = 1.009 * ECB (t = 1305) R² = 1.00 IMF  /  ECB R² = 0.99

BIS = 1.001 * ECB (t = 7218) R² = 1.00 BIS  /  ECB R² = 1.00

IMF = 1.007 * OECD (t = 1058) R² = 0.99 IMF  /  OECD R² = 0.99

BIS = 0.999 * OECD (t = 1828) R² = 1.00 BIS  /  OECD R² = 1.00

BIS = 0.992 * IMF (t = 1248) R² = 1.00 BIS  /  IMF R² = 0.99

period 2000-2014period 1999-2014

Australia: Real Effective Exchange Rates, deflated by HICP/CPI Australia: Real Effective Exchange Rates, deflated by HICP/CPI

REER: pairwise comparison of time series (y-o-y % change)

correlation of time series

REER: pairwise comparison of time series (index numbers)

scatter diagrams and fi tted trendline (OLS, zero intercept)
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OLS regression results (zero intercept) correlation of time series

ECB = 0.990 * ECFIN (t = 1350) R² = 1.00 ECB  /  ECFIN R² = 1.00

OECD = 0.988 * ECFIN (t = 1126) R² = 0.99 OECD  /  ECFIN R² = 1.00

IMF = 1.000 * ECFIN (t = 1061) R² = 0.99 IMF  /  ECFIN R² = 0.99

BIS = 0.988 * ECFIN (t = 906) R² = 0.99 BIS  /  ECFIN R² = 1.00

OECD = 0.998 * ECB (t = 2175) R² = 1.00 OECD  /  ECB R² = 1.00

IMF = 1.010 * ECB (t = 1313) R² = 0.99 IMF  /  ECB R² = 0.99

BIS = 0.998 * ECB (t = 2249) R² = 1.00 BIS  /  ECB R² = 1.00

IMF = 1.012 * OECD (t = 978) R² = 0.99 IMF  /  OECD R² = 0.99

BIS = 1.000 * OECD (t = 2382) R² = 1.00 BIS  /  OECD R² = 1.00

BIS = 0.988 * IMF (t = 1024) R² = 0.99 BIS  /  IMF R² = 0.99

period 2000-2014period 1999-2014

New Zealand: Real Effective Exchange Rates, deflated by HICP/CPI New Zealand: Real Effective Exchange Rates, deflated by HICP/CPI

REER: pairwise comparison of time series (y-o-y % change)

correlation of time series

REER: pairwise comparison of time series (index numbers)

scatter diagrams and fi tted trendline (OLS, zero intercept)
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OLS regression results (zero intercept) correlation of time series

ECB = 0.989 * ECFIN (t = 603) R² = 0.96 ECB  /  ECFIN R² = 0.98

OECD = 0.995 * ECFIN (t = 881) R² = 0.98 OECD  /  ECFIN R² = 0.99

IMF = 0.995 * ECFIN (t = 1478) R² = 0.99 IMF  /  ECFIN R² = 0.99

BIS = 0.988 * ECFIN (t = 590) R² = 0.96 BIS  /  ECFIN R² = 0.98

OECD = 1.006 * ECB (t = 1714) R² = 1.00 OECD  /  ECB R² = 1.00

IMF = 1.005 * ECB (t = 725) R² = 0.97 IMF  /  ECB R² = 0.99

BIS = 0.999 * ECB (t = 5320) R² = 1.00 BIS  /  ECB R² = 1.00

IMF = 1.000 * OECD (t = 1043) R² = 0.98 IMF  /  OECD R² = 0.99

BIS = 0.993 * OECD (t = 1645) R² = 1.00 BIS  /  OECD R² = 1.00

BIS = 0.993 * IMF (t = 687) R² = 0.97 BIS  /  IMF R² = 0.99

period 2000-2014period 1999-2014

Mexico: Real Effective Exchange Rates, deflated by HICP/CPI Mexico: Real Effective Exchange Rates, deflated by HICP/CPI

REER: pairwise comparison of time series (y-o-y % change)

correlation of time series

REER: pairwise comparison of time series (index numbers)

scatter diagrams and fi tted trendline (OLS, zero intercept)
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OLS regression results (zero intercept) correlation of time series

ECB = 0.994 * ECFIN (t = 821) R² = 1.00 ECB  /  ECFIN R² = 0.98

OECD = 0.995 * ECFIN (t = 1289) R² = 1.00 OECD  /  ECFIN R² = 0.99

IMF = 1.003 * ECFIN (t = 608) R² = 1.00 IMF  /  ECFIN R² = 0.95

BIS = 0.995 * ECFIN (t = 1035) R² = 1.00 BIS  /  ECFIN R² = 0.99

OECD = 1.000 * ECB (t = 1784) R² = 1.00 OECD  /  ECB R² = 0.99

IMF = 1.009 * ECB (t = 863) R² = 1.00 IMF  /  ECB R² = 0.97

BIS = 1.001 * ECB (t = 3296) R² = 1.00 BIS  /  ECB R² = 1.00

IMF = 1.009 * OECD (t = 908) R² = 1.00 IMF  /  OECD R² = 0.97

BIS = 1.000 * OECD (t = 2574) R² = 1.00 BIS  /  OECD R² = 0.99

BIS = 0.991 * IMF (t = 819) R² = 1.00 BIS  /  IMF R² = 0.97

period 2000-2014period 1999-2014

Russia: Real Effective Exchange Rates, deflated by HICP/CPI Russia: Real Effective Exchange Rates, deflated by HICP/CPI

REER: pairwise comparison of time series (y-o-y % change)

correlation of time series

REER: pairwise comparison of time series (index numbers)

scatter diagrams and fi tted trendline (OLS, zero intercept)
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OLS regression results (zero intercept) correlation of time series

ECB = 0.986 * ECFIN (t = 1180) R² = 1.00 ECB  /  ECFIN R² = 0.99

OECD = 0.983 * ECFIN (t = 785) R² = 0.99 OECD  /  ECFIN R² = 0.97

IMF = 0.990 * ECFIN (t = 1306) R² = 0.99 IMF  /  ECFIN R² = 0.98

BIS = 0.991 * ECFIN (t = 1258) R² = 0.99 BIS  /  ECFIN R² = 0.99

OECD = 0.996 * ECB (t = 1459) R² = 0.99 OECD  /  ECB R² = 0.99

IMF = 1.004 * ECB (t = 1219) R² = 0.99 IMF  /  ECB R² = 0.98

BIS = 1.005 * ECB (t = 1557) R² = 0.99 BIS  /  ECB R² = 1.00

IMF = 1.008 * OECD (t = 870) R² = 0.99 IMF  /  OECD R² = 0.98

BIS = 1.009 * OECD (t = 1428) R² = 1.00 BIS  /  OECD R² = 0.99

BIS = 1.001 * IMF (t = 1125) R² = 0.99 BIS  /  IMF R² = 0.98

period 2000-2014period 1999-2014

China: Real Effective Exchange Rates, deflated by HICP/CPI China: Real Effective Exchange Rates, deflated by HICP/CPI

REER: pairwise comparison of time series (y-o-y % change)

correlation of time series

REER: pairwise comparison of time series (index numbers)

scatter diagrams and fi tted trendline (OLS, zero intercept)
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OLS regression results (zero intercept) correlation of time series

ECB = 0.988 * ECFIN (t = 1242) R² = 0.99 ECB  /  ECFIN R² = 0.98

OECD = * * ECFIN R² =     n/a OECD  /  ECFIN R² =     n/a

IMF = * * ECFIN R² =     n/a IMF  /  ECFIN R² =     n/a

BIS = 1.012 * ECFIN (t = 940) R² = 0.99 BIS  /  ECFIN R² = 0.95

OECD = * * ECB R² =     n/a OECD  /  ECB R² =     n/a

IMF = * * ECB R² =     n/a IMF  /  ECB R² =     n/a

BIS = 1.023 * ECB (t = 733) R² = 0.98 BIS  /  ECB R² = 0.96

IMF = * * OECD R² =     n/a IMF  /  OECD R² =     n/a

BIS = * * OECD R² =     n/a BIS  /  OECD R² =     n/a

BIS = * * IMF R² =     n/a BIS  /  IMF R² =     n/a

period 2000-2014period 1999-2014

Hong Kong: Real Effective Exchange Rates, deflated by HICP/CPI Hong Kong: Real Effective Exchange Rates, deflated by HICP/CPI

REER: pairwise comparison of time series (y-o-y % change)

correlation of time series

REER: pairwise comparison of time series (index numbers)

scatter diagrams and fi tted trendline (OLS, zero intercept)
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OLS regression results (zero intercept) correlation of time series

ECB = 0.996 * ECFIN (t = 2376) R² = 1.00 ECB  /  ECFIN R² = 1.00

OECD = 0.992 * ECFIN (t = 1482) R² = 0.99 OECD  /  ECFIN R² = 0.99

IMF = * * ECFIN R² =     n/a IMF  /  ECFIN R² =     n/a

BIS = 0.994 * ECFIN (t = 1451) R² = 0.99 BIS  /  ECFIN R² = 0.99

OECD = 0.996 * ECB (t = 2432) R² = 1.00 OECD  /  ECB R² = 1.00

IMF = * * ECB R² =     n/a IMF  /  ECB R² =     n/a

BIS = 0.998 * ECB (t = 2860) R² = 1.00 BIS  /  ECB R² = 1.00

IMF = * * OECD R² =     n/a IMF  /  OECD R² =     n/a

BIS = 1.003 * OECD (t = 3005) R² = 1.00 BIS  /  OECD R² = 1.00

BIS = * * IMF R² =     n/a BIS  /  IMF R² =     n/a

period 2000-2014period 1999-2014

Korea: Real Effective Exchange Rates, deflated by HICP/CPI Korea: Real Effective Exchange Rates, deflated by HICP/CPI

REER: pairwise comparison of time series (y-o-y % change)

correlation of time series

REER: pairwise comparison of time series (index numbers)

scatter diagrams and fi tted trendline (OLS, zero intercept)

60

70

80

90

100

110

1999 2000 2001 2002 2003 2004 2005 2006 2007 2008 2009 2010 2011 2012 2013 2014

Comparison of REER by different data providers: index numbers

ECFIN

ECB

OECD

IMF

BIS
rebased : average 2005 = 100

60

70

80

90

100

110

60 70 80 90 100 110

ECFIN / ECB

60

70

80

90

100

110

60 70 80 90 100 110

ECFIN / OECD

60

70

80

90

100

110

60 70 80 90 100 110

ECFIN / IMF

60

70

80

90

100

110

60 70 80 90 100 110

ECFIN / BIS

-35

-30

-25

-20

-15

-10

-5

0

5

10

15

20

25

1999 2000 2001 2002 2003 2004 2005 2006 2007 2008 2009 2010 2011 2012 2013 2014

Comparison of REER by different data providers: y-o-y % changes

ECFIN

ECB

OECD

IMF

BIS

-40

-30

-20

-10

0

10

20

30

-40 -30 -20 -10 0 10 20 30

ECFIN / ECB

60

70

80

90

100

110

60 70 80 90 100 110

ECB / OECD

60

70

80

90

100

110

60 70 80 90 100 110

ECB / IMF

60

70

80

90

100

110

60 70 80 90 100 110

ECB / BIS

60

70

80

90

100

110

60 70 80 90 100 110

IMF / BIS

60

70

80

90

100

110

60 70 80 90 100 110

OECD / IMF

60

70

80

90

100

110

60 70 80 90 100 110

OECD / BIS

-40

-30

-20

-10

0

10

20

30

-40 -30 -20 -10 0 10 20 30

ECFIN / OECD

-40

-30

-20

-10

0

10

20

30

-40 -30 -20 -10 0 10 20 30

ECFIN / IMF

-40

-30

-20

-10

0

10

20

30

-40 -30 -20 -10 0 10 20 30

ECFIN / BIS

-40

-30

-20

-10

0

10

20

30

-40 -30 -20 -10 0 10 20 30

ECB / OECD

-40

-30

-20

-10

0

10

20

30

-40 -30 -20 -10 0 10 20 30

ECB / IMF

-40

-30

-20

-10

0

10

20

30

-40 -30 -20 -10 0 10 20 30

ECB / BIS

-40

-30

-20

-10

0

10

20

30

-40 -30 -20 -10 0 10 20 30

IMF / BIS

-40

-30

-20

-10

0

10

20

30

-40 -30 -20 -10 0 10 20 30

OECD / IMF

-40

-30

-20

-10

0

10

20

30

-40 -30 -20 -10 0 10 20 30

OECD / BIS

 



OLS regression results (zero intercept) correlation of time series

ECB = 0.988 * ECFIN (t = 522) R² = 0.98 ECB  /  ECFIN R² = 0.98

OECD = 0.986 * ECFIN (t = 434) R² = 0.98 OECD  /  ECFIN R² = 0.98

IMF = 0.960 * ECFIN (t = 287) R² = 0.95 IMF  /  ECFIN R² = 0.89

BIS = 0.985 * ECFIN (t = 428) R² = 0.98 BIS  /  ECFIN R² = 0.98

OECD = 0.998 * ECB (t = 1806) R² = 1.00 OECD  /  ECB R² = 1.00

IMF = 0.972 * ECB (t = 462) R² = 0.98 IMF  /  ECB R² = 0.94

BIS = 0.998 * ECB (t = 1996) R² = 1.00 BIS  /  ECB R² = 1.00

IMF = 0.974 * OECD (t = 533) R² = 0.99 IMF  /  OECD R² = 0.95

BIS = 0.999 * OECD (t = 3058) R² = 1.00 BIS  /  OECD R² = 1.00

BIS = 1.025 * IMF (t = 506) R² = 0.98 BIS  /  IMF R² = 0.94

period 2000-2014period 1999-2014

Brazil: Real Effective Exchange Rates, deflated by HICP/CPI Brazil: Real Effective Exchange Rates, deflated by HICP/CPI

REER: pairwise comparison of time series (y-o-y % change)

correlation of time series

REER: pairwise comparison of time series (index numbers)

scatter diagrams and fi tted trendline (OLS, zero intercept)
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